Quiz 10 MA 16020 Nick Egbert

Instructions. Show all work, with clear logical steps. No work or hard-to-
follow work will lose points.

Problem 1. (5 points) Given
6 , 6
Fo(wy) =8ay+ 2, fylwy) =4a"+ -,

Find fa;;p; fyya and fTU

Solution.
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Problem 2. (3 points) A function z = f(x,y) satisfies

fey = 132% sin(wy)e” Y.
What is fy.?

Solution. Recall that f., = fy, (Clairaut’s Theorem). So f,, = 13z? sin(zy)e” V.
O

Problem 3. (2 points) Give any comments about exam 3 and/or the course in
general.



